Year 3 Arithmetic Test 8 teStbase
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16 ~+ 8 =

1 mark
12 x 4 =

1 mark
?+43=76

1 mark

782

- 107

1 mark
?x3=27

1 mark
245 -90 =

1 mark
842 + 29 =

1 mark
l of 52 =
2

1 mark
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Year 3 Arithmetic Test 8 teStbase

36+?7=4

1 mark
73 x5=

1 mark

904

- 755

1 mark
69 x 8 =

1 mark
—of 16 =

1 mark
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Year 3 Arithmetic Test 8 teStbase

Mark scheme

N " 11. 675 [1]
2. 75 [1] e 9 .
, 13. 155 [1]

3. 5 [1]
14. 871 [1]
4, 399 [1] 15. 26 [1]
5. 899 [1] 16. 9 [1]
6. 850 [1] 17. 365 [1]
7. 85 [1] 18. 149 [1]

8. 2 [1]
19. 552 [1]

9. 48 (1]
20. 14 (1]

10. 33 [1]
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